
       ECW 230 TIRE BRUSH

Item # Part # Description
1 TRP 230-1 96" X 8" BRUSH

2 TRP 230-2 MAIN FRAME

3 TRP 230-3 EXIT SIDE LEG

4 TRP 230-4 ENTRANCE SIDE LEG

5 NSP-VPS 120 1-1/4" PILLOW BLOCK BEARING(2)

6 WFSS 012 1/2" STAINLESS STEEL FLAT WASHER(4)

7 HNSS 012-S 1/2" NYLON INSERT STOP NUT STAINLESS STEEL (4)

8 HBSS012200 1/2" X 2" HEXANGONAL BOLT STAINLESS STEEL (4)

9 HBZP 038134 3/8" X 3/4" HEXAGONAL BOLT ZINC PLATED (2)

10 BRP 420-5 TWO BOLT COUPLING
11 HNZP 038-S 3/8" NYLON INSERT STOP NUT ZINC PLATED (2)

12 HBSS0516100 5/16" X 1" HEXAGONAL BOLT STAINLESS STEEL (4)

13 TRP 230-5 MOTOR MOUNTING PLATE

14 HYA-1001 HYDRAULIC MOTOR

15 PH-88FTXS 1/2" TRIPLE LOK MALE CONNECTOR( 2)

16 PH-1064388 1/2" FEMALE JIC SWIVEL HOSE FITTING (4)

17 PH-3018 1/2" HIGH PRESSURE HOSE X 12"

18 PH-3018 1/2" HIGH PRESSURE HOSE X 10"

19 PH-88DTXS 1/2" TRIPLE LOK FEMALE ELBOW (2)

20 NSS 012400. 316-40 1/2X4 S.S NIPPLE (2)

21 PH-88GTXS 12" TRIPLE LOK FEMALE CONNECTOR (2)

22 PH-3018 1/2" HYDRAULIC HOSE

23 TRP 230-6 YELLOW UHMW SAFTEY PLASTIC

24 PH-3018 1/2" HYDRAULIC HOSE

25 PH-1064388 1/2" FEMALE JIC SWIVEL HOSE FITTING (4)

26 PH-8WTXWLNS 1/2" TRIPLE LOK BULK HEAD UNION 

27 PH-8WTXWLNS 1/2" TRIPLE LOK BULK HEAD UNION 

28 TRP 230-7 RUBBER BUMPER

29 HBSS 012200 1/2" X 2" HEXANGONAL BOLT STAINLESS STEEL (16)

30 NSP-VPS 124 1-1/2" PILLOW BLOCK BEARING (8)

31 WFSS 012 1/2" STAINLESS STEEL FLAT WASHER(16)

32 HNSS 012-S 1/2" NYLON INSERT STOP NUT STAINLESS STEEL (16)

33 HBA 038100F 3/8" X1" FLAT HEAD STAINLESS STEEL BOLT(3)

34 TRP 230-8 EXIT ARM ( SHOCK)

35 UNI-1004 1004 SHOCK (DRIVER SIDE)

UNI-1094 1094 shOCK (PASSENGER SIDE)

36 MRS-125 .135 GHD EXT. SPRING 

37 TRP 230-9 ENTRANCE ARM ( PISTON)

38 HBSS 038400 3/8" X 4" HEXAGONAL BOLT STAINLESS STEEL

39 PH-EM25 1/4" AIR FILTER

40 PH-2PSX7 2" X 7" AIR CYLINDER (DRIVER SIDE)

PH-2PSX13 2" X 13" AIR CYLINDER ( PASSNEGER SIDE)

41 PH-A6TMC4 3/8" TUBE STEM ADAPTER

42 PH-A6EUC6MG 3/8" UNION ELBOW

43 PHL067370000 2-1/2" X 3/4" ROD CLEVIS

44 HBSS 014200 1/4" X 2" HEXAGONAL BOLT STAINLESS STEEL

45 HNSS 014-S 1/4" NYLON INSERT STOP NUT STAINLESS STEEL

46 HBSS 014200 1/4" X 2" HEXAGONAL BOLT STAINLESS STEEL

47 HNSS 014-S 1/4" NYLON INSERT STOP NUT STAINLESS STEEL

48 TRP 230-10 SUPPORT CLAMP FOR PISTON

49 HNSS 038-S 3/8" NYLON INSERT STOP NUT STAINLESS STEEL




